MA

O] &F1tat7|=J(GIST)
Moo
oo=2

q

A
o

4

=

FO|=2hEl WA H =X
=

-+

[e]
A=

: 520 mW cm2

x
—

.l

BH A=

N, E7kerel
QH

8 85

P
(i

=

=

Ok

tol =2t

ke
o

M =
[ |
2l

.I
Zeke

o+Z
=

0f e
O

=
=
=
=

ol of

s
&

2 Fe-

1.2
2SS 0|83 H7[0H XIS ZdAl

06 08
V)

0.4

0.2

O SSUCED 262 SHRICH

-

—

1 2021.05.26

1 =FO=2 2HG}

Q
=

FSH
MY X T HBFE DLET MEL
|

=]
=
x

2021.5. 27.

<0

VXIC =2 AR TX[Of BlARE 28 958 7M1 7|E AN Fr NE 2 =

ol
mjny

H
ol

12

Ct

AN

.
(]

Of F7/HRIX|

=

=

of

=
=

Mt

o
AN

2 PROME 28 50| RAIZHES

04 BEO[ ArEoHOf

=
=

o2

X| @40t 282 =0[7| OfELCL
Lt @AFS0] H=1F Holl 2 AHO[(AIH)

S|
=

https://www.etnews.com/20210526000063


javascript:;
javascript:;
https://www.etnews.com/tools/redirect_sns.html?p=twitter&pos=2&url=https%3A%2F%2Fwww.etnews.com%2F20210526000063%3FSNS%3D00001&text=KBSI%2C+%EC%B9%9C%ED%99%98%EA%B2%BD+%EC%95%A1%EC%B2%B4%EC%97%B0%EB%A3%8C%EC%A0%84%EC%A7%80+%EC%84%B1%EB%8A%A5%E2%86%91...%EB%B0%9C%EC%A0%84%EB%90%9C+%EC%B4%89%EB%A7%A4+%EA%B0%9C%EB%B0%9C%EB%A1%9C+%EC%8B%A4%EC%9A%A9%ED%99%94+%EC%95%9E%EB%8B%B9%EA%B2%A8
https://www.etnews.com/tools/bookmark.html?mode=add&id=20210526000063&mc=e_002_00006
https://img.etnews.com/photonews/2105/1416850_20210526152038_841_0001.jpg

2021.5.27.

GIST &4

o

S:

&>

o

I

b ==Qt GIST &

&,

a7

K

ar
<k
E|

=
%]
(O]
80
3
S

R
or
%)
o
N4
1!
0
KO
Ih

0l

100
0
iy
<

o

UTE 3 F°0|2kD ALY,

bSnibS|
B e |

E

.l

FOfL|2F AlA

HH O
O =

X 1A
—

7t Zetel d=HX0 HEE I, 2%

{OF & &=t0f O Cf7t

H

o
o
o

M= A7t 2

=2 ME 2B o|HX| 7i0|AEL| 22FelEHo]| x| 2 AXHC.

Hd

O =2 EZE7| Xt kyj85@etnews.com

212

https://www.etnews.com/20210526000063


https://img.etnews.com/photonews/2105/1416850_20210526152038_841_0002.jpg

